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Which of the following economists is called the

founder of economics? ?9‘71‘4’( Qb bz Pors e U5 o su

Lionel Robbins #.J ¥y D JSMil JUdie C Adam Smith T B David Ricardo  s3.€.33

According to neoclassical economists, economics: te Ebe L7 L Ebe S ﬂtd’ 1 1%
There Is a shortage Knowledge of Knowledge of material
Knowledge of wealth e .
D of resources ¢ multiplicity of purposes g well-being
‘LH‘KJ” GL(WJJCTUJ ‘LH‘KQ}'/JMG'» ‘LH‘KCLGd)L

A name for writing similar behaviors of people in a e oy s -
particular order and wording: 'K g2 e 51 sl 2 Z PG U L U

Scientific law " Law of economics o Knowledge of tru Knowledge of Advise
4;_(;):70'(_5’.:!.’ ﬁ;uiﬁ'u‘zly L s IH‘ @ 4"_..:,;,,‘,‘»“(]‘

Name of behavior adopted on the basis of N T .
multiplicity of objectives and scarcity of means: ”" s ‘?‘J/ e ’4"%’0/ SN 9

Struggle « 4z D Knowledge ‘LH‘ %}%% e B Economics < =litb

The following conditions must be maintained fo@
economic law to apply:
Are called theories Are calle

et p ¥
By observing and experiencing the situations and
events in economics, which are explained

AP OIVEI S P I F A A S (BT T4

ons Called limitations N Are called assumptions
L Uz L e os

&:/UQUJKUKL/,,}JJIMLi’fb/..;*.fwl»c:aﬂlauf...m.l:fﬁbf'Hi

s called knowledge s called knowledge s called knowledge of s called knowledge of
prediction D of bantat c truth B advise

‘Lt”ﬂf’/q:u?'(h ‘Ll:"U-y'/c:«t’l::H& ‘Lt'U-z‘(“ 32 lfk ‘Ll:'Jlg’/..:.q,ufJ!(h

According to Alfred Marshall, economics is: e e Ble L L ¥l
Moral knowledge Scientific knowledge Remedial knowledge Social study

A3 H‘u-*u v P Gl H‘d Clos

Violation of which law in economic reform is neither ~ bU6e?l (e G173 248 0mitb S b 7 Ui ibor S b
punished nor resisted? e byl
Moral law Official Law Economic law Scientific law

296 Sk 0 9GS ¢ 6 S e 5 SELItad”

Economic view of the advocates of which school is

the name of a feeling and state of mind? Seplbedd Gauo Ll f B6 ebune LU

8

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Please visit for more data at: www.pakcity.org

|
@)

Y T e e e e (e e o [ £l ] [ {1l [ o o [T

| ] o o o o o o o

e e e

[

] o o s [ | o o o i o { o o oo | o o o o oo o o o o [ o |

I




www.pakcity.org

e e e e e e e e e e el e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e et e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e |

Ancient  ~£» D Modern .. C Newclassical =¥y B Classical f"’w A [
et oy e O g org B o< A Lot pee S |
Theoretical Ji & D Applied Juws C The genéral S B The detail (i A |
Economics is a knowledge of: e Fliee 14 |
Scientific (- D Social J #b- C Spiritual dbs B Politics s N
The founder of economics is: PRUTASCBP |
Keynes .- D Robbins 7~ C Adam Smith ¢4 B Marshall f 4 A :
Economic laws are: g S 13 S e 3 |
Compulsory (v D Quantitative g« C Unconditional s~ ¢ B Conditional 5~ A E
Economics has been described as a selfish science: ol H‘ ST I R
Ruskin and Carlyle Pego Robbins Marshall [
LSk, P Sy & ) 2 S A
Adam Smith was associated with: G 574 145
From Holland | D FromFinland ¢ C From Scotland ;&@\& B From Ireland < /7 '
Founder of Classical School of Thought: Q om - QE S 46
Keynes - D Adam Smith & 4l C Rob bé ) B Pego }é, A !
Who presented the classical theory of inertia: f‘@;@ NI o /%G B AL® 47 |
Robbins ~1. D Marshall J” A o Cz/ 6awd Ricordo »5.6.395 B Pego ;?.,. A f
Jvr;z :Ieader of the neoclassical school o&f Equg\h? G f = 7% o
Robbins 7. D Marshérlifyx C Keynes B Ricardo ».¢. N
l/r\]/;\?;\atg?ntgltilﬁtljigl/lti)é:of a commodity is maximized, :carm;tsvﬁimpf_wg;wm Fek UJJ o |
Maximum wliewl; D Positive <2 C Zero 4 B Negative ¢ A
Material activities that have the potential to satisfy S el Sugfeab$iie & b1 zupe S s I
human needs indirectly are called: Ao s 0 |
Services =l D Customizer /Ku‘:"g C Satisfying B B Goods /L A
A consumer is in equilibrium when the total utility Tob1 P Wsd_st J o At il 2 sttt a1 ke
derived from different goods is: | o :
Decrease Become equal Remain same Increase -

2 onf 0 2_lonisl ¢ e L 5 ) i :

ltems that are directly used by humans: il e JE ol I 262 S 929
Consumer goods Industrial goods Static objects Capital goods .
S IWAL g AL . Ao o A2 LB ol

u
—
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o =
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Another name of which law of economics is law of , ;
substitution? N L LV CE At 23
. The law of The Law of Equitable
Law of reproduction Law abatement
s D diminishingretumns ¢  Effada Makhtatum R P A
J/b = b f'/wlald"w OLlY Wo)@ld)l.-ﬂc)jl? - o
In which of the following cases, the law of Tagleel s e P ,
Afada Makhtum does not apply? b QU bl k" i e e it 24
Do not change the The user's income Due to continuous use .
. . For demonstration
nature of the object p  doesnotchange ( of the item B P A
Licetifl LasduTS o e L LE s
Under which theory does a consumer choose e LAz I we F et i i neeE L B S o
different pairs of two goods while remaining neutral? ¢ .
Non-Priority Letters Positive exchange User reproduction User reduction
AR : - & & C . s B . vi} A
é/,’ﬁbl" rate lelC/ﬁﬁ* wt kit 1 ujuﬁw
What are the forms of non-preference letters? cplnl U C}’rm}-f 26
Horizontal (¥ D Concave ~ C Vertical §:5# B Convex — .« A
According to which law, utility decreases gradually o W“’}"\édw’d’v Luiideed Lol 57
with continuous use of units of a commodity? A \ 2= ¢
| aw of reproduction | .Tlhe'law of Q«Q mm Iaw of The Law of Equitable
/ - D diminishing [eturns CJ, (& ductlon B Effada Makhtatum A
e ik 96 DN & P s = Bl ol 5
The sign of Mukhtaam-e-Affada is: - \)u el Sl 28
MU D MC (\/\\}\ C MR B M A
When the final term is zero, the tota\rte?ﬁ Is: e brnbl e trponliFY 2 9
o \\/
Zero 3 D Maximum sijcsts C Positive = B Negative ¢ A
When marginal product is negative, total product: bl g See dnd i er 3
It is unlimited Become zero ; Increase ’ Decrease i
‘Lan‘;uf’l} ‘Lan‘/‘ ‘L(?i’: ‘Lé/f
Goods that can be directly used to satisfy needs: :Eﬂurﬁ Sebbl S S 3
Consumer goods Capital goods A Export items ’ Imported items A
Aol AP RERAY: S 4T
Salient features of letter preference: (e 2Ll é}J cuks 32
Concave towards the Convex towards the . .
origin . origin " Horizontal \ Vertical A
S A YA S iy
Variable expenses are called: e bbbt ider 2> 33
Average fixed costs Alternative o Direct costs ; Indirect costs A
Y Ty EXPENSeS iler sl et el A2 Lt sl|
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Which law of cost applies when a business is

subject to acquisition law: b UL Ve £ S 0 25 b hsk

Reproduction costs Reduced expenses Alternative expenses Certain expenses
J/w/:?g v JJWL}JE/ v JJWJJL-" ‘ 2 e
The standard price is: u%pakcuy org %" ¢dy-_,fdjtu
Personal nature Optional nature Temporary nature Permanent nature
= I3 0 =9 SR ¢ =E I 5 =S I
_etters of non-preference form: e A ST wbs
Horizontal & D Vertical (s C Concave B Convex —.
nvestors in a joint stock company are called: pZ D1l Sl /ut&%’/ JhS 2

Organization g:b’ i D Directors s 4/ C Participation $.1s . B Members 1~

Symbols that can take on any combination of
acceptable values ?7during a single discussion are

called:
Residents = /1~ D Changes =y C Variables =12 B Constants
Used to express the relationship between
independent and dependent variables: b W‘{ JLM"L O Fuun LGt
Letter L D Interaction ¢ C Table Jw,,\ )E\‘) B Connection L.
What is the form of linear equation? P % M2 ?‘meﬁ"/ LEetsla Gl
Oval ¢s= D Circular  $41; C éhj\.ﬂ]/ u}' B Direct letter g:'“‘"/ L3
Which of the following equations is the standard- Lo, ,
form of a binomial equation? /ﬁ\g\\ <~/>) ('Lu:.’.d!'odJ.l:”Jﬁdl}u&/)}}&')udd}r&gf:(j“}
ax2+bx+cx=0 D axtbx+c=0. ”Y\,» C ax2tbx2+x=0 B ax2+bx+c=0
If the dependent variables move in. theb?rposne F6 215 7 e e e vl 2B et 3]
direction to each other, such a refationship is called o
an interaction relationship: B Ry
Constant interaction . Reductign reaction . Plural interaction . Equivalent interaction
S S Jou JeduL
The process of arranging a number of materials . : . " .
systematically in vertical columns is called: e . e U
Statistical content " Decimal content A Tabulation . Secondary material
;ng;Lﬁ s * (SEF wdw sSSP
Which of the following means is not related to Sulgr . A ,
collecting initial amount of materials? e 07 e L Ui Sl i = ot
2 perso'nal Through rgsearch By registration By questionnaire
observation D publicatons ¢ Yy B P
25 aalEe s Al B 2L Bl
Equations whose solutions of unknown values LUl tZ s i F S st e L P tn
?"7are true for all equations simultaneously are ‘ . -
called: O T ol
Univariate equations D Three degree equatior C Binary Equations B Equivalents

34

A

33

A

36
A

37
A

39
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41

42

43

44

45

46
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VAL N VAL M4 VALY DAL ]
The number of rules is: eSS SIS AT
Four J D Three o C Two s B One { A
Another name for the law of reproduction is: PPN o -HOT
Uniform expenses Reduced expenses Reproduction costs Reduction of gain
il QUL D e NEYY 5 po ¥ A

e e e e e e e e el e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e el e e e el e e e e e e e e e el e e B e e e
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The costs incurred in producing more than one copy

of an item are called: LW e AL L S diie LSS S 49

Fixed expenses Final expenses Total expense Average expenses
, D Y C , B , A
J/Wdf/ ._}JL-P/(-{ _leﬂff /2 b s
The firm's average revenue is equal to: e Aadrosbni$p 50
Of price §=d D Of expenses J_iler C Receipt $u B Demand for §_¥ A

It the solved values ??of the unknown quantities are 3,7 &, 7. AT500, Udislr s s i F S st o

true for all the equations, then the equations are 51
called: W
Homogeneous Tertiary Two level . One level
. . D C ”'0 \. B A
equations U= fsls s 4 $oss 07/:5;, j Gk
The number of firms under perfect competition is: »{ ‘”’ :‘c.&ﬁ:l,o'}d/ Uy pes L,;u'»w{
" N
Large number 5.7 2~ D Three C wag/,; B One (i A
<\ [ N /
If Y is the independent variable and X is the \ T
dependent variable, the reciprocal relationship |s;;‘)“ 0> 2 ASEIUn F KT i 53
X+ 1(y) D y+1(x) A\ OVL y=1(X) B x=1(y) A
Monopoly's final collection letter is: o CV :%rn,zpwﬂ,“("gédmu@u 54
Dea&é@s‘from left
From left to right top ol , “to right h Equal to OX - Vertical A
L/?)iufbauﬁ V/;J/I’U:IJLU:L OX g Sas?
;i
If the invoice passes through the X-axis, the 4= . L7 7
elasticity of supply is: e dnddirde S e Gf Xens /i 55
Less than one More than a unit Unlimited Zero
’ D ’ C B : A
[Ld% o}L)Ldm Iy Vel
A vertical letter calls for: e b bhsgor 56
Not flexible 424 D Fully flexible .. C Moreflexible .idss; B Less flexible udfF A
The graph of a two-level equation is called: :‘LL“M i1 S Eetslo By ST
Vertical »+# D Directletter #7453  C Curved /1.8 B Tumnip-like 1% 8
In which sector is the implementation of the o . o
reduction of earnings soon: N At ST
Agriculture D Industry C International trade B Communication A
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7, e RN = 1o s [
In case of monopoly: (eSSl 59 ]
The slope of the final Total gain is always Average gain is higher i
gain is upward upward than final gain Average Gain = Final Gain E
SAE s e D w0 F U F bbby B P = fli Al
gt - =J7 :
4x=Tx+2 equation is: e bldx=Tx+2 60 |
Interaction 6 D Tertiary &.»- C Two degrees &.s»» B Onelevel G Ll A i
A human desire or aspiration for which purchasing ~ F#(itksmszsbafedd L3 S F 6 Pl Fi#du N i
power must be present is called: e (e E
Price <. D Use i~ C Demand Y B Supply . A |

e e e e e e e e e e el e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e et e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e |
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An inverse relationship exists between the price of a

' . . o ' & . P " e & 62
commodity and the quantity demandead: <t ‘?E.EWJ’ bl LAtz § 4’—0/

Positive =3 D Direct wiunl C Pluralism g B Reversed o # A
Reasons for transfer of demand letter are: 205 :‘LJ;/:?,JJ_;/:J}" Ll 63
. : A) .
Exceptions = D Wish s C Other factors @' WA B Price LY, A
The elasticity of demand for durable goods (eg . s o B Bemes o
furniture-TV etc.) is 0& \ w0 gEAEC Al F g, o
Equal to zero . More than one % E”qdél to the unit ’ Less than one R
/I/L/““’ o)LJL(jK N/«){& \‘ﬁlgiéﬁ [L(jg’
Q

If a decrease in the price or supply of a goo;i r\r@( S J?LT;J/'J/J:M?!/’"fﬁJ;uau&f’gd/uiJJi/ﬁ
no difference to total consumer spendmgﬁh&ﬁ ) 65
elasticity of demand is: f\\}f e dn S

Equal to one . M@fé than one o Less then one . More than zero R

,{l/,/i(j(’ o)LJc;dK [L(jﬁ o)k)a’_./a‘

When there is a significant change in the price and

66
demand of a commodity, it is called: B e Inlnd e UV AL ed S

Arc flexion 5 Point elasticity L Income flexibility . Intersection flexibility R
ug(j';’. ._gujﬁj ugd,ol ugcl’li?
The elasticity of demand for goods that have chea
substitutes ig: J P a_dy‘_.gd/ JJ u!u*a_mfrJ,dff’ :qu‘j 67
Zero flexible " Less flexible . Complete flexible ’ Flexible .
i pe w3 ey i
A response to a change in the price of a good in the A S YV Yy L RS Eﬁt«{/‘?’ Sedd g
demand for the good is called: .
Arc flexion . Cross elasticity . Intersection flexibility . Elasticity of demand R
s 4o e 4l

Which pair of goods has complementary demand

among the following pairs of goods: e Sl U“’; AL RSSO I I O
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' Wealth and book Tea and coffee Meat and vegetables Petrol and car I
U sl tss . 381t . Srnleis . ot o A
| Aletteris inclined to: e baskrk s 70 |
| Unlimited s D Zero ;¢ C Positive «.j B Negative ¢ A |
| What causes demand to rise and fall: e o§i Sl b T
| Demand D Supply 4+~ C Other factors J1#.£ B Price =.¢ A
‘| Basic requirements require: :+JﬁJJ =Gl T2 :
! Zero flexible Infinitely flexible Less flexible More flexible ]
S po g Yl ¢ s s S sns\ 4
| Inwhich direction supply and demand curves move: S e b L w13 i
! Horizontal position Equal to each other Opposite direction In same direction :
=@ 2 St e oLl v e . e Gk A
| Motion on demand means: el a7 s T4
Jemand expar)sion Contraction of Decrease in demand Increase in demand
i and contraction 0 )y » | B A

E e itlad b demand ¢# §_¥ MK{ « 8?\ IS AN :
{|  Asthnailetter is inclined to: “é/\ 09’ g :%Vﬁf@fKJﬁéWI 75 |
: Positive =3 D Negative & C Veﬁrcab d?/ B Horizontal J’] A .
| Inthe long run the letter arrives: g (y e bus i FUP 16|
| Zeroflexible s D Not flexible i ,A..ff‘»C More flexible si4dst; B Less flexible ¢ A |
| The quantity of a commodity that is broug\hf fé\the Loeiy) Sty B Fot s o f Pos 2 ind i s i
| market for sale at a particular price |rﬁabart|cular ‘ . ) 7 |
1| period of time is called: < \\ ~ ‘é—dM AR I
Supply 4+~ D Demand _¥ C Store 25 B Quantity . A
|  When the supply of a commodity increases without I TN S AT I Tl S NG :
| achange in the price of the commodity, it is called ' X ‘ 78 |
| in economic terms: el ot ]
1l Variations in supply Increase in Supply Expansion in supply Change in supply I
E et & & b 26 a . A6, : d:,&‘ o b i E
] The slope or tendency of a line of supply is: e b gCAKZE A T |
| Ovalin nature Positive in nature Vertical in nature Horizontal in nature E
| Gesigsz Fof Jo o ¢ Kef I5s* 5 (e 3P g I
an;vl;i;;h of the following cases the statute does not 30 U S Var s 96 s e St 5 our 80
I Business migration Birth expenses Cost of raw materials Techonolgy I
: P Sk . Flieier . SN : Soe S
1 A logistics transfer is caused by: :%Jn ,;»,J J‘” Sasls 81
f Changeindemand D Change in tax C Other factors B Change in price A _
e e e e ")
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bt b f e bt

When a small change in the price of a good causes ﬂugd/w?nél:Jiutl{?uﬁmw_(}ﬁ*dﬁJL{ad{@
a significant change in supply, the elasticity of : "t W . *

supply is: =§-J
Equal to zero 5 Less then one " Equal to one - More then one
/,l/,.f,/'“ fc_&'(’ /.I,:Z,L;W a;gjc_gjﬁ

Which of the following equations is a logistic , ) : o
expression of the reaction? T AP Car K S mtoln§ S U5 s a

Qs=12+3p D -Qs=-p+20 C Qs=-3-3p B Qs=26-3p

The supply of perishable items like milk, fruits, . . ‘ o
vegetables, fish etc. is elastic: e Bsrfarade W e omlt L3 A LS

Less flexible Zero flexible Proportional flexibility More flexible

4 > g © e g

The seller's price is found to be safe: 2, Mguf“" s =i Jb/.:.é,/'l
The employer z7 D Government =+  C User Jil B Purchaser .14~

According to the law of supply, there is a

' : - e LU fesd I
relationship between price and supply: el st el aa s

Sameness (L D Pluralism 25 C Opposite ¥/ . e"“\“,\\, B Reversed s
An increase in the price of a commodity leads to: A& m o e Qrisse 2 el $as”
Waste &L D Balanced i C Mo;(ef@p\?\ B Less ﬁ/
A delivery letter is: /\ij > e bbb ar
Negative ¢ D Horizontal & /\ Q\G/ Vertical ¢+ B Positive =3
</

Perishable items are delivered by: /‘\5@;\\1}/ e Uyt ar s 3ERE LA DL
talic 1z~ D Oval <¢r KON C \Vertical §:» B Horizontal

_and supplies are: PPN S
Conclusion #* D Unlimited s 4 C Variable 2~ B Decided s
If the decrease in price does not change from | Wt . ks .
supply to supply, it is called: G il Sani e G5 el

Long delivery time . Short delivery time 3 Variable logistics . Deadline

M/JJ}’J/ MJJJ:bJ/ M/;f”"” M ) 2

i'ghgalrlee\(/fnue from selling an additional unit of output ” i M+ S e i Sy SRSl 2520

Final Receipt y»s*° D Cash recovery ¢»:% C Total recovery »s.f B  Average recovery $s*sk-s

Supply expansion and contraction is due to: :‘L,.?,J 515 512 s
Price =4 D Income (47 C Technology Sst€ B Population 7
Long run average cost curve (LAC) is: r@ pakcity.org %@- e bt (LAC) 6 ier sl L # o f
Envelope shaped Of S shape Saucer shaped Of U shape
BT ) B © Bt ° (L

82

83
A
84

A

89
A

86

A
87
A
88
A
89
A
90
A

91

A

92

A
93

A
94

A
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Supply and demand curves move: LSS 7o L s
In horizontal position Equal to each other In opposite direction In same direction
o D Lo mg © el o el
Price from decline in demand at maturity: el a«_d/ VA PR
qggr?ti(teﬁr:l;tr)ggsr?es y Doe“s not.change - Becomei Increase ’ Beco[ne less

o B or (17 S S x < Jbo < Qb
Types of Time Forecasts are: I ar s B L 0 f
Four D Three o# C Two B One (|
If supply exceeds static demand, the price Is: :%Qn_-ué 9Z_lostnsliniy, JJ/ L
Unlimited »s.& 1 D Zero # C More sl B Less (

A condition in which a force acting in one direction
neutralizes the action of a force acting in the
opposite direction is called:

Equal s/ D Balance < (o

A market is in equilibrium where the forces of
demand and supply intersect:

Negative o1y D Equal ui =
When supply and demand increase equally, price is </
affected by: ,(>
All of these Price remain same’, @)
.. D N \‘v \C
OV. VAV /Y

s “\ \

An equal increase in supply and dem\anﬁfn
equilibrium results in: < \\ ~
Balanced quantities The equilibrium
are not affected D quantity decreases (

UG e e b
When the decrease in demand equals the increase
in supply, the equilibrium quantity is affected by:
Slightly decreases Remain same
& 753y LIS ‘aﬁwﬂl,&%u)l?
When the increase in demand is greater than the
increase in supply, the effect on price is:

All of these Remains same -
uif@c-,-«cu’»'l 4"_JJ‘JUL—£
When the demand and supply of a commodity
decrease in the same ratio, the market price:
Slightly decreases Increases
R D . C
e dnf s ko

C Stable  (losf

C POSI@@M%P“

The equilibrium quantity

Increases

:Jd/di:»?nr_qlfgﬁug JJ#;JJIJJ&LJ;Q

B Competition «Gt.ult
JJJVLJ!?Q;@;dua_/qu‘Jy(lu‘J’Jw)l
O, c.dUnQ_)//u_fdjz:_JJua_/Ji

)

B Opposite 4G

STt A T TS arn b Uz et st cd Uit 34§ 2
Price decreases Price Increases
" B ,
- iz

:‘Lbzﬁl@:fg’??b‘ﬂj&lu@dﬁﬂu;lJ_,q
Exceeds the equilibrium
quantity
+3@w2¢§

remains the same B
< bl ed
:‘Lt'%/:.lc‘:__ JLHA/,JMJ}JUU@CJ)I}"
Decreases
< Gk i 15 bl ola I 5 I

:q_vgﬁl4/|ﬁv)l??2_@ﬁ3ugwlu.’:yﬂyz(f ST

Decreases . Increases
e desf < deo
e t'g)‘l,;uf}"m;ngbwutm,.iuiuf‘._,ib?e
Decreases 3 Remain same
< dest &Gk
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Types of market based on time period are: :ug,»u':J Sire UL eDs0 106
55 D 4 C 3 , B 2 A
Wage is the reward of which factor of birth? % pakcity.org %:, S bk PSS ez 107
Capital ..~ D Hardwork < C Employee ~ B Land (2’ A

The reciprocal relationship between the factors of : S of
: oy e bl =2 2 1S - o dr, 8 7 e, (o 108
production and production is called: b 2 HE Gl s Lot gl P

Mode of birth Birth reaction Birth of wealth Production and resources

&7 - D &7 o C o B ’ o
U)’%Q‘/” J’lﬁ,dpl}) J})le,g: JV}JJI@:

Which of the following factors is responsible for the

integration and sharing of factors of production? Ce b S A LN S oSl of = U5 108

Capital .\~ D Employee zi C Land ¢’ B Effort = A
When a worker moves from one profession {0 ». » y _us s, 0 P2 cne 2 (Kmrs
another without any difference in his position and ' ) A
wages, it is called: et 32 T20/85
Professional mobility Geogra.p,h|cal Parallel mobility Rasi mobility

¥, D mOEI|I’[y C P s B P A

Sk <lis 2 d/.’.zﬁ:dwdk”/’ LA J LaS Sl
The slope of the final receivables curve of a firm e (© \,
under perfect competition is: Q) el Lot S feF L oS 1
Unlimited sy D Positive C Negatiie J‘ B Zero ;¢ A
If the total revenue is maximum in a monopoly then p (H . e .
the marginal revenue is called: § e 'é-d“fr brosf Inosl il by P UGt 12
Same (Lf D Negative ¢ . o}i}/ Zero B Positive . A
cS)ru;::lmproflts are attributed to a parhcular)elismﬁe s N i A L(/.pw (P J(/uf”/ Yo 13
Technical savings . Exte{rfql Savmgs . Internal savings ’ Business benefits i
S SOy SLg WS
Another name for law reproduction is: e byl /»K/-"‘f Uit 114
Variable Ratios Reduced expenses Reproduction costs Reduction of gain
e D C L aE B A
- JJWJ'W 2 s J'élad’w
Non-standard sharing of factors during the - r P
production process is called: S S Ak F6F g e S Gy 15
. Obtain the law of Law of Duplication of Law of Expenditure

Law of reproduction . . .

s D reduction ® Expenditures B Reduction A

Sy FobZ e i 2E 56 e K 56

The law of reduction tends to obtain: ‘e b S b s 116
Oval (¢»# D Vertical ¢:sf C Pluralism ¢ / B Negative & A
In gengral, the law of abatement applies to the e bt E S J-Muil?‘c/ b M
sector: ; : .
Trade = D Handicraft &> C Agriculture «s1.; B Industry o=~ A
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A monopolistic firm typically earns: :ﬁ;étf/?ub(u(/’;uml?u,g 118 |
None of these Loss Extraordinary damage Minor damage
A4 P o IR B B g :
Land and labor in the production process are: et it i & 19
Intervention Expenditure Technology Consumer goods
Pl . PG . % 5 o2 i

The difference in the productivity of different sectors

of land is called: icét“W SO S Lo 120

Scarcity tax 3 Differential taxation . Compound interest . Net income A
SO SRy S SO f

Fixed capital is: e A 120 |
Bond . Machinery - Defense Savings Certificate - Raw material .

s S NN Jiet :

The effect of money in the law of reduction of effect: :o)lé'lt{/)uﬁ??uﬁlﬂ"u}ﬁ' 122 |
Zero Remain constant Decreases Increases .

: D C - B A I

b e b ctS A o -

e L . AN ) 3 e I

The law of diminishing returns applies to: RNV < e b O bk e 123 |-
On constructions On trade On.agr jlture On industry -

5 D . C RS B : A !

L /:.“J % % NS L=E 4 L2l -

A S : ' . I

Violation of which laws are not punishable: %J &7 JJ‘U:’ 1 /46;/,JU$£@:’;J 124 |
Ethical laws . Economic law, Qg’/ Government law . State's law " i

19 B Ju)’f)a@gfﬂv Z S F e Sy I

T I I

The letter of acceptance of law teﬂnc{s’\;té?’ e b e K E S Figss 125 |
Q) . . ?

Vertical (4% D Horizontal ¢ C Positive = B Negative ¢~ A [
\é\(/)t;[[?:gc_)f the following costs are included in variable Lo JES S F e A e L en 126 |
Indirect cost " Additional cost 4 Price of raw material B Rent of land " :

=S btk rd e.«fd/dtrl; N6 i

What are the wages of watchman, manager and . : o
permanent staff? ?u.?dﬂf(.l./ JZ'J'VW”%J’JX’ 12 I
Additional cost " Final cost - Upfront cost ’ Variable cost " I
St S =L Sy i

The increase in total cost by producing one more T - ; P :
unit of a good is called: et ASf e Lgdaafdss 1 :
Fixed expenses Final expense Total expense Average expenses i

. D o C . B , A |
e Ry Paad Sder S RyP :
Short-term letters are generally: WP e S 129 |
Oval shaped D Saucer-shaped C U shaped B Flat shape A

O :

m
m R
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IR WX Vet ULF lx ]
Fixed and variable expenses accrue: s% pakcity.org %e wa’ S e 2o 130 ]
i\;%r:r?(?ittﬁ:eal . Average expense Total expense . Final expe“r.]seS . i
e S i b il S e :

The consumer's equilibrium state is summarized as: e bl ol 131 |
The highest 774t D Thelowest o>=2 C Zero B Negative ¢ A |
The long-run average cost curve is: e bnls SN bl f b o 132 :
\/ shaped (s D S shaped V2 C Saucer-shaped /§*° B U shaped Uy A
Capital is called compensation: e bl obd 2L 133 [
Profit &t~ D Interest s» C Wages =z B Lagann ¢ A
Employment gains due to innovation: Diokezle bt Focw | 134 :
becomes unlimited Bcomes zero . Increases . Decreases " ]
bl Y bl & blorf :
Wage compensation is: p (\\’f‘;\ o il 135 E
Of capital €.\ D Ofhardwork = C Of employe{e & B Of land &y A
It is not the market's duty to: %& wh s ST 654 136 !
Give maximum output Determine the price 67 XI\}[a?tch buyers and seller Enatzisc:cr&r)r:]c;dity R :
sl aeosl i mslJ ;./u"JKJ v(\i) ;LLJ’JI:CKJ;//,UI,M led&/;iﬁdgéif?’ :
Depending on the time period, the mark@t;ggs are: T S e L =5y 0 p 13T !
Three & D Two<t NN C Six z B Four U A |
Full competition does not require: AR ATy
The same item may Acknowledgment of The nature of the item i
have different prices p production c  should be the same g woliars am frequeflt A I
ved i (2 5L urc‘/..‘é;.dy S 'M.ui’L " wUlkes IS e} ey
A day market is one in which: WAL ‘L.(jﬁo)di'f,‘.;‘z 139 |-
Supply is unlimited . Time: Is short A Availability is certain n Supply ?:ﬁgggr]%e based R :
3345 U a y:Jfb =330 F ol i yzCCﬁJ,j/?)y’ru(ch/ :

A group of firms that produce a particular good: e bt Nl S ;2.,,,/% _Cikuy; 140 |
Factory <b.¢ D Industry == C Consumers o o B Employees /27 A
A monopoly is a type of market in which: S eSSl M|
Items“ are perishable i All :rr:(iﬂgtril%r; ;%tlz;ors - objectf, are durable ltems cannc;t b.e stored X
Qe 5 7 Al b Pt SALIE b U7 236 :
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Long Term Market: Shrw b 142 [
i?rtg)c?rltgr?ﬁ}c/)lseaig Firms freely enter and Aerdsi duction § i

Al of these determining price exit the industry ertain production tactors !

o7 3 D ; 3 - C zslﬁl);)ljfgﬂwgu:"/. B can Ch?nge A |
e st L ST , i nd e Fraotod :
b1 SE G :

A long run monopoly is characterized by: S s Skl S p e 183 |
There is complete -

There are two or control over the raw _ I
three producers materials used to Production C°|St5 CUs Resources are limited :
Fiwd vl Sigs D producetheproduct C ml”'Tf‘ | B P A
S n bt JigfE L s i ) !

) ‘Lt"nda/”fdj E

If the value qf the final product by employing the last 12 217, S sl s A0S oist P LYl e i |
unit of labor is Rs.10 and the wage rate is Rs.12, ' ) 144 |
then: TPy
A firm can becq?h I

The firm needs to The firm wants to more eff |f it I
increase production reduce the wage éés\t 6 unlt of Firm is in loss :
...u)/"d/LlP/Jl)l,vf,’/ D rate C/MJ/LL?[(/ C /la and output B L)b”;uu‘gr}' A E
= (_)/?/..::]l 7, 8\/ Oﬁfd/ Lg/d}/ E
&/Q) C—)/(LU’JVJJ’GKJJM i

. /?\\s\ ¥ . "™ -

Excluded land is land that: ﬁ\\\f,» 2e Qg 145 |
Occurs in rural areas . Dogs@@ pay rent s Pays rent . Very fertile for any crop i
‘L(}nuﬁu;"U&dfo: ‘LL(}!"U@.L ‘L&.Jc)@ Ld/‘/’udiéﬁf&j E
Deficiency tax is paid because: ol e bt B 146 |
The demand for land is The supply of land is less :
less than the supply and supply can be than the demand Soils vary in fertility ]
o D increased C B A I
[JJU:JJJWLWU R {M/JJJJ’LL“"CJ Ldfﬂaz“iid/uu‘u i
.. P N :

‘LL}}’E ‘Ldff i

The reciprocal relationship between birth and e e g E
pl'OdUCtiOﬂ o -cﬂ-L }’EM/J‘L@'LM&.@&&UQ‘JJLJFJI&JJIJJI%J.'ILL& 147 :
Mode of production " Interactive . Production of wealth ' Production resources A [
j'{v,‘.jﬁ/b pl‘OdUC’[ion le,g:,(}iuj ;'/’)}le% J/[,,,Jj|& E
Forests, minerals, seas and mountains are the i g & ] o y !
factors of birth, then what happens: "J'M"(’ ”J“):WJJ'%JL‘JM”UM@‘L’ wonthy| 148
Differential rent . Excluded . Compound interest . Like rent i i
837 ilad S S i
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SHORT QUESTIONS ugpakc.ty org@c :

Write a definition of economics as : I

1 . . - 2 =2 SO 7l 2 1 |-
explained by Professor Robbins. “é/._g/’ g 3 L’””/u*l" J/ e d

2 Write words of praise for Alfred Marshall. -é{}BW'ib&'/’?Jy}Lj}“ 2 |
3 What is meant by economic problem? el e e 3
4 What is meant by economic laws? sl e L1 u’" b 4 |
Explain the difference between micro and - . . :

5 | =% . S St dE sl 5 |
macro economics. Tt M - i

6 Whatis the subject of economics? ?‘Lg@ﬁcﬁygﬁpwﬁ‘ 6
7 What is the difference between Science and Arts. e J/ YU of mH‘ 7 |
Write any two differences between .y T 4 :

3 - . 8 |-
economic and state laws. 'JJU/ wOILLld e i
Why does Alfred Marshall's definition raise . IR T A I

9 . ¢ o Jlo. ¢ oy & b 9 i
the question of likes and dislikes in desires? ‘Ldﬁ&u[()lrh{.uﬁ:u* s 87 J‘f’bfd | I

10 What is meant by positive economics? Ce sl /g.;@pww 10 |t
Write the definition of economics given by S\ “ 4 iy I

11 A% et A 11 |
Adam Smith. A) e e Y O [ :

12 What is meant by scarcity? . &:\OJ Yol s Ve g 12 |
13 Define microeconomics. ~ \’?‘;% __ibg jf J awa'&t = | 13 I
\ { S . N M ]

o . NS e :

14 What is meant by knowledge @ \}@ P /.tfa,uf:ﬁ' lH’ 14 :
15 What is meant by non-economie needs" ?L;lfufa,g,uwuj"'b»/j 15 |t
‘/\\) ‘ ) T I

16 What is meant by Affada'?/\\w Cesl e bl 16 |
Explain the difference \tWween economic - b % & & i

17 230 oL 17 00
and non-economic needs. 'éu'l“")/w i At I
Explain the main points of Robbins’ - i

18 .. . e oK A ; =2 =, 18 |-
definition of economics. Zok i Ly detodr -

19 What is meant by wealth in economics? el e eI ialie 19 |
What are the four branches of economics : " » -

20 ¢ P ) 22 oL e . 20 |i
according to Adam Smith? U:Lu/ufgjlgé 3 l’”fkd‘w‘f'ﬁ/r" -
Explain the difference between goods and i 2 I

21 APE 5 OISl 21 |
services. ik . [

22 What is meant by economic needs? ?;.;l/gc_g,tgbfb» 22 |1
23 Differentiate between necessities and luxuries. G ST el 23 |
24 What is meant by macroeconomics? ?‘L;l/ggd"’b»&lf 24 |1
Explain the difference between economic v i £ 0« & I

25 , B sl 25 |l
and non-economic goods. e i
What is the difference between utility and . b -

26 benefit? v ?‘au/gu:dmfwum 26 |1
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27 What is meant by necessities and luxuries? ?‘L;;/g¢,¢,u~fv71,n¢,g,,/ 27
?%;l/gaalggbl&w 28
Hy F S il 29
?ac_t’yzuxff%z%é?rﬁb# 30

28 What is meant by human needs?

29 Write the definition of law of equality of rights.

30 Why is the slope of non-preference lines negative?
31 What is meant by consumer behavior? sl e Cilo s 31
32 What is meant by wealth? el plfe sy 32
33 What is meant by requirements? el e el 33
34 What is meant by capital goods? Cesl e Are 2 34

Cesl p e nbi 35

E F et ST s 36
Cest e 3T
-éb%/’?d/c—df:fg 38

35 What is meant by negative effect?

Write four exceptions to the law of

36 i )
reduction of benefits.

37 What is meant by capital formation?

38 What is meant by final receipt?

39 Whatis meant by consumer balance? fﬂg\ﬁ;\,\ el /.Lf el Jile 39
40 Define letter of preference. ) Néjf\\clg) Sy P Si 5 sk 40
41 What is meant by average variable cost?(\ﬂ (3‘:, N Vil el F b 4L
42 What is meant by value? /ﬂ\%”;“{ﬁ} sl p Ve d 42
43  What is meant by user? ~\ <;;Q> Sl o L/ e e 43

//\‘“\1 Y\\/
~IN w .
44 Define the Law of Equitabj@ﬁf}ada Mukhtatum. _’.éb,g Fa S (’/ DBISslr sl 44

(N

i e e e e e el e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e |

45 What is meant by cons%éi}ﬁf/\s? ?% 5 /-g/ = o~ 45
46  Define land. sy JEt a6
47 Explain the difference between wealth and capital. LS Sl AT
48 What is meant by variables? Cesl el 48
15 Z\rlll'clia; (1)sn ’Elclsnclli’;fil(‘;r:;e between continuous ?§.J) S J/V/;f;:l J’V .
50 What is meant by interaction? €l e Sf§ 50
e ST I
52  What is meant by related equations? ?%;1/;[;‘_)331,@,1/: 52
53 What is meant by tabulation? Sl pf e Saase 53
54 Give two examples of continuous variables. _é u'?'ft':';;d/ ey /,-?"J’V 54
55 Whatis called independent variable? ?ung_’,/é AT 55

O :
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i e e e e e el e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e |

e e e e e e e e e e e e e
56 Define the law of variable proportions. ‘ ) _‘_{/ - /7 J. =626 56 |
57 What is meant by portability? “@ pakcity.org %" el e Sk J}” 57 |
58 What is meant by a large scale birth? - ‘ sl ol e o AR A Sk 98 |
s gt o conditons e necessar o et oL et |
60 What is meant by elasticity of demand? el e b S 60 |-
- giglgiﬁf difference between demand ) éfi;J) SSSa 61 |
% ettor demand to be negative? e e
&5 z\giﬁ ai(s;trir(l)i%nt by demand expansion and e e g L b 63 |
- Z\:]}éa; 1§rt;1fei :};iflf;i(;nce between less flexible ?9[5/' S /.gwgmm ﬁg (r 6 |
s el meant b percentage method of e it o |
o arcelatiy? G e e |
67 What is meant by cross elasticity? 9 (;E\‘,\’ Tl yavs LVQ Cf' E» 67
68 Whatis meant by complementary demand? /f Q{é\ el v ,:,Jﬁ 68 |
69 Define reduction reaction. ; Jzé;) sy JEF LJJ:L?J. 69 |
70  What is meant by change in dema {1&1‘\) Tl vt C’—UE K et 70
71 What is meant by demand? - ”Y\Q Sl e b 71

/f\, . ' !
72 Write 2 exceptions to the\law _u.‘."‘"g aWZJ Lo 72 |
73  Define derivative demand. _é_@ /7 J sl 73
74  What is meant by composite demand? ?é_;l/g‘w_?lb%f/ 74 |
75 Define the income elasticity of demand. _é_;.g /7 S ug Jg A8 L 75
76  Explain the demand law. Syl by 76
77 What is meant by derived demand? Sl sl WA 77
- \(/l\glrls; lr1lsd ;neant by rising and falling ey Vet F ozl b 78 |
79 What is meant by more flexible? sl Pl e ,gug) 73
80 Define demand. i b 8o |
81 Write any four assumptions of law. & éu,/&‘,tg&fiu)g' 81 |
82 What is meant by contraction of demand? el pfe d & L b 8
83 Define income elasticity of demand. _5 - J { .»»_._,éd 4] J b 83 :
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e e
41 \Sfrélra; g1es?1:he difference between supply and ?‘LJ/. St i, 8
s Ut e derence e spply ek L 5 |
. Eéi?glg_the difference between supply and ) échJ) i Finia, 86
87 What is meant by market supply? T sl e as S 87
88 What is meant by rise and fall of supply? P /L/aé.j sy u, 88
89 Define law of supply. ZEy P Sasyds 89
90 Define supply. ..é,fng/?d/y; 90 |-
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